= O

= 0 AF AF & 9 A
=233 oo 23~ B2 D
sls 0
sojzolma Jls /DY)

Cag SA W cromg
Moo= OB - HISAY - BAS AroH J| = o HD=2
Jl=1 17,349,868 15,679,000 1,670,868

Fas 2,090,000 2,090,000 0
c 15,259,868 13,589,000 1,670,868
|=ol=et R=( Jls=glet) 17,294,868 15,610,000 1,684,868
Fas 2,090,000 2,090,000 0
o 15,204,868 13,520,000 1,684,868
M =AY X 10,590,000 8,720,000 1,870,000
Fas 2,090,000 2,090,000 0
° 8,500,000 6,630,000 1,870,000
Ttk s2RARAHE 1,200,000 800,000 400,000
306 =2 1,200,000 800,000 400,000
01 &3 1,200,000 800,000 400,000
OmslsaEeasy
a8 1,200,000,000& 1,200,000 800,000 400,000
LI D=2 EMdgHHE 2,200,000 1,200,000 1,000,000
306 =2 2,200,000 1,200,000 1,000,000
01 =42 2,200,000 1,200,000 1,000,000
OUuEdsdEdgHAE Z2E 2,200,000,000 2,200,000 1,200,000 1,000,000
L EE)|sIHEHAEHXH 0 100,000 A 100,000
402 SIZ2tXHE0| A 0 100,000 A 100,000
01 It X282 X 0 100,000 »A 100,000
OUSEE)sHEHE X R (M2 0 100,000 A 100,000
MCOAZEYOIZAHSA AR KR 0 30,000 30,000
307 Gl2to|& 0 30,000 30,000
02 DI2tAHAE =X 0 30,000 230,000
RO AZ a0 2 HE A2 K 2 (H o2 0 30,000 £30,000
20| psHA P 1,200,000 1,000,000 200,000
403 XX SHSR20|M 1,200,000 1,000,000 200,000
01 XMIXESHHAEEX 1,200,000 1,000,000 200,000
OF0| AP HRN=H AR
24 1,200,000,000& 1,200,000 1,000,000 200,000
LED-ITESES OSSR RME 2HE 1,000,000 600,000 400,000
307 Gl2to| & 1,000,000 600,000 400,000
02 DI2HAAME X 1,000,000 600,000 400,000
CILED- TR Bt A el 5 K| 21 M1 E{ 24 2
23 1,000,000,000& 1,000,000 600,000 400,000
StEEXAH DBt RS 4,661,000 4,825,000 A 164,000
MSEHEAMTSAIS 261,000 275,000 A 14,000
307 Glz2tol & 261,000 275,000 A 14,000




2 BEI|=0
M Ys)|zolTmel RE(US|s/Us )=t
SRl ASHEEX A DBt RS (&2 &
SN -BH - S(B) - MRAY - BES Ofl &k 04 Pl HRE2
02 SI2tZAE X 261,000 275,000 A 14,000
CJatsr g AT |AS a3 261,000,000 261,000 275,000 A 14,000
XSS AEE (RIC) X2 AN 600,000 750,000 A 150,000
307 Qlz2to|l A 600,000 750,000 A 150,000
02 QItZAE X 600,000 750,000 A 150,000
OX<S s AMHE (RIC) XS ANY
4d & 600,000,000 600,000 750,000 A 150,000
nsI|=23 0ele =4 2,043,868 2,065,000 N21,132
Science GB Tour2< 0 30,000 A30,000
307 2I2t0| ™ 0 30,000 A30,000
02 0IZ2ZtEAMNE X 0 30,000 30,000
[JScience GB Tour2 (X oH2) 0 30,000 /30,000
st=Xls2RZ U3 X& 8,868 200,000 A191,132
307 Qlz2tol A 8,868 200,000 A191,132
02 QIZtZAE X 8,868 200,000 A191,132
Ost=Xlszsx23 U XNA ZH 8,868,000 8,868 200,000 A191,132
FOICIXEAIOIAAXE 2 HE 300,000 100,000 200,000
403 KRGS A201A 300,000 100,000 200,000
01 MHXSAHX2EX 300,000 100,000 200,000
COFR0ICIXIEAOIAAME 2 AHE
Zd & 300,000,000 300,000 100,000 200,000
HYSHGH(UEIN =X EW)(IIEH/IIE 55,000 69,000 A 14,000
Jl=Zl 55,000 69,000 A 14,000
Jl=23Hl 55,000 69,000 A 14,000
201 Et29H| 39,000 53,000 A 14,000
01 A2 2eltl 39,000 53,000 A 14,000
O et | 39,000 53,000 A 14,000
O =dE=HRRNERUSENSGHI
d& 21,000,000 21,000 23,000 A 2,000
O=32a=a2HA 33 5,000,000 5,000 10,000 A5,000
OMe)|=d=gossAE/AYIAALY
438 3,000,000 3,000 10,000 A7,000




